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Ilime Allowed : Three Hours—! [ Maximum Marks : 25&'

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in .sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left.
blank in the Question-cum-Answer Booklet must be clearly struck off.
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Wus—A / SECTION—A

1. Frefifea v&% 99 &1 S T 150 wi=di § 4

Answer the following questions in about 150 words each :

(@

(b)

(c)

(dj

(e)

2. (a)

(b)

(c)

s Hif fr 3we & TH TR AF1 ) STl A T qu = h geger T %A fwifa
Bt

Explain how equilibrium rate of interest and income are determined with the
interaction of both product and money market.

Jr=aiia g1 AR F ST T ST Rigi & Ia-Aaard Y § gie ik
Distinguish between post-Keynesian approaches to horizontalist and
structuralist theory of endogenous money supply.

Feliiia e i & srdere 3 o fvee R s w41, e A

Explain how renewable resources will play a role in future economics.

@mﬁ@mﬁmmm%mmﬁamlm—ﬁwﬁaqﬁqﬂﬁﬁﬁ
Fhean iR &6 % @ N areh geenedi i s hifvw)

Mention the classification of assets held by a commercial bank. Discuss the
problems faced by commercial bank due to rise in NPAs.

g fiera ¥ w9 3§ fiefa ¥ gedt wRiaea R H s AR

Explain Myrdal’s cumulative causation theory as the theory for development.

S o @ g 27 weRia AR B seniteR o Hied Suh IUR R e
ok

What is conjectural variation? Show how some models of oligopoly are derived
on the basis of it.

uﬂhﬁm%mﬁwwﬁﬁﬁawﬁwtﬁﬁ%@mﬂﬁmﬁwmﬁ
Gkl

Show that systematic monetary and fiscal policies are ineffective in controlling
output and price level.

() i Wi o st ¥ S 87 #0 I g € R el o R-afeesl’ g
?7
(i) eRia Hfw fF AR My afte woa & w3, @ IR R Tl i sEifae Sfer-w

() What makes technical progress endogenous? Do you think that
technology is a ‘non-rival’ good?

(i) Show that if the research becomes more successful, the growth rate
will increase and hence the standard of living.
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3. o) W <ffm 6 e v fRR W @rrdl B ) W C,, B ¢ > C,, Wl @ Wl A
AR # § | 79 AR & 9 Wger 9 27 98 wheadf] wegen @ Rew wer R 27

Suppose that we have only two firms in the market with constant marginal
costs of C; and C, respectively such that C; >C,. What is the Bertrand
equilibrium in this market? How is it different from the competitive
equilibrium? . 8+7=15

(b) “Eﬁﬁsﬁi’i‘ﬂﬁaaﬁaqﬁﬁ?ﬁﬁl”wmmﬁ?éaimaﬁmm%mﬁéﬁngﬁ
IR WE hifa)

“Even green energy is not always green.” Do you agree? Illustrate your answer
taking biofuels as an example. 15

(c) R T eyl § Prefifad sl R s Ru e & :

&N =9 = 300
Frafia faw = 200
< ffa = 50
WA #W = 250
AT = 01

o= 39 w9l = 0-5

(i) S I (Y) 1500 % R B, I (C) 600 ¥ | WrEa I ¥ & HIfg)

(i) A dRgE—adermen ¥ wER H R @ ek § Al frfa agem =@
(F91: Yy, A Yy,,) TG T@ i)

(ifi) F T (i) T I Y, F AFHR TR A srfmaen § gger Fld @ R o 9@ 1=
Fafdt 7 uftada ¥g 7@ Fifv) ahada F vfomr w@ @Fa Q91 1 e S

[t & ’000 #ig ¥ &, Tywd: 3 W Td Wo Io Yo & e |

You are given the data on the following variables in an economy :

Government spending = 300
Planned investment = 200
Net exports = 50
Autonomous taxes = 250
Income-tax rate = 0-1

Marginal propensity to consume = 0-5
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(i) Consumption (C) is 600, when income (Y) is equal to 1500. Solve for
autonomous consumption.

(i) Solve for the equilibrium levels of output denoted (respectively by Y,,
and Y,,,) in the two scenarios—presence and absence of income tax in
the economy.

(iii) Solve for the change in net exports that would bring the equilibrium
output level in the economy with the income tax to the level of Yy,

that you found in (ij). Specify both the magnitude and sign of the
change.

[ Figures are in ¥ 000 crore, obviously except tax rate and MPC] 20

4. (@) 3% [ 3 Fo Fafa Tt B i wEEE (FERER) TeM wd ¥ e 3w Rg
Frafa wefER % frefafen et A we F0 % foag gof sl % srafa & 1ifis agem
Tisd H1 I9g HIRT :

() & Frafa aelReh ¥ weamed wE
(i) WERR A RA-T1 g GFA IR BA-A1 Tt & wr k7

Many countries subsidize some of their export industries. Use a partial
equilibrium model under perfect competition to illustrate the following effects
of an export subsidy for a large country :

(i) Welfare effects of an export subsidy

(i) Which group is winning and which is losing from the subsidy? 8+7=15

(b) TEE 3 A AN W a1 A4 3w Fuifa F0 g Feerk F fyaw fagra # w@dw § =
HfSY | FeeR F TET (Aisd) 6 gByfil hi F=r= hil e Kk

Briefly state the Kaldor’s theory of distribution in determining the share of
profit and the share of wages in national income. Explain the mechanism
behind Kaldor’s model. 15

(c) weRia Hifvg 5 it vfreral 1 foer IR g whfea swaefa 9fs fre & &
F={d & S R

Show how the idea of monopolistic competition becomes intrinsic to the
endogenous growth theory as postulated by Romer. 20
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@UEs—B / SECTION—B

5. frmafafas v&% w7 =1 s onm 150 =) & €S

Answer the following questions in about 150 words each : 10x5=50

(a) ﬁﬁﬁﬁaﬁmmﬁwaﬁa%,ﬁ%@mﬁmwmﬁm@m
=few)
State Arrow’s five reasonable conditions which a social welfare function must
satisfy.

(b) mﬁﬂumm%mﬁﬁw@mw-ﬁ%%&aa@ﬁm%ﬁ
i)

In the context of international trade theory, discuss in detail the various stages
of the international product life cycle.

(c) W@wmwwﬁwﬂq#&mﬁw%mmﬁwaﬁﬁ%ﬂmaﬁﬁm

Discuss the issue of compatibility between international trade and
environment sustainability.

(@) T fowaiicn seferaen % el # w1 o A € 6 gm AR D g § o B
arferes STt R7 T IR F g F wRO wga A

In the context of a developing economy, do you think that fiscal policy is more
effective than monetary policy? Give reasons in support of your answer.

(e) TH < % ot anifiie frprar & wrelsifen-reh wrdierd 3 wera = 2, swren $iftw)

Explain how public-private partnership helps in the rapid economic
development of a country.

6. (@) TH AdTTE F, WER Th 92 Ry Wh @M s Ty ST )
Wieafea A F 5@ W @ B

() ¥ A gC T s @ SfEm @ T A wew R, sdereRen ¥ e W sw w0
9 B "l &7

(i) eSS T8 9% WY § % ug g ¥ o g =R 3§ Rregaeit 1 e w@ )
wltgor Fifse fF T s o srwla aal snlsraen S wevhy et 2

In an economy, the government is trying to boost the local economy by a
massive advertisement ‘buy local—local is best’.

() Assuming that the public tend to be persuaded by the campaign,
what effect might this have on the economy’s multiplier?

(@) Critics argue that this is unfair and leads to distortions in free trade.
Examine how the economy performs here under flexible exchange rate
system. 8+7=15
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(b) zﬁﬁm%'q’ﬁ%ﬂﬁmﬁmwam%?aﬁﬂ%‘q’aﬁw@%ﬁWIS—LMwﬁ
F 3w ¥ ol ol #6517

What do you mean by Tobin’s ‘q’ theory of investment? How would you modify
the standard IS-LM functions in the presence of Tobin’s ‘q"? 15

(c) mﬁm%wm@m,mmﬁﬁmﬁﬁgﬁﬁa%lwﬁ
drmrett = 3 i)

Explain how Keynesian speculative demand for money is restated in regressive
expectation model. Point out its limitations. 20

7. (a) @ W mm@amﬁm%wmmaﬁﬁmuwﬁawm
Tega: Poit-Ifa 87 HRO TR
Describe Lewis model of development in an economy with unlimited supply of
labour. Is Lewis model really capital-driven? Give reasons. 8+7=15

(b) e SR fh siis yEveshEw B wiEn § i wiiE $ AREE 81 d9 IW B

I9geh IaTEl | e FR|
Explain how trade blocks are important in the process of economic
globalization. Ilustrate your answer with suitable examples. 15

(c) & %R EFE wert C) =2, C, =2q3 7 SRAW TSR AT e P =100 — (g +g5) Wed
Tt Rrfdl o Seared H ) weRfa AR B $-T9 wger R W 2 TIE T ToN IR
Frger Y o1 A S AT HAR B | =re i % 7% Tan i )

Two firms produce homogeneous outputs with cost functions C; = q12, Cy = 2q%
and the inverse market demand function P =100 -(g; +4g5). Show that at the

Cournot-Nash equilibrium, firm 2 makes higher profit than at the joint profit
maximizing equilibrium. Explain why this is so. 20

8. (a) fva ¥ fafE 39 ¥ 7o =R v PRw vt § sfivga oied  f sren fifw) @ aRed
¥ wq@ wries] Fwaht Fi faaen fifvw)

Explain the recent changes in the trade and investment flows among different
countries in the world. Discuss the major factors that led to these changes. 8+7=15

(b) %aaﬁaﬁ,amﬂmﬁwammmmamﬁmmﬁ,m
‘e’ SrofeEE § R 3eanal ¥g navas Rl 1 Yo fifv)
In an economy with only two commodities, two consumers and two producers

with single factor of production, derive the necessary conditions for Pareto
optimality in a ‘perfect’ economy. 15
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(c) Wﬁ%ﬁ%ﬁﬁa@ﬁﬁﬁﬁﬁmﬁuﬁhwﬁ%ﬁa@m@%%@mﬁ
8 TR A €, saren Hifg

Discuss different forms of subsidies. Explain how perverse subsidies are

detrimental to the economy and environment in the long run. 20
* ok k
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